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Using the K,, value for PbI, found in the attached table,

calculate:

a) the solubility in mol/L for PbI,

b) the concentration of Pb* ion in a saturated solution
of lead iodide in parts per million (Note: Parts per
million or p.p.m. is a common unit for expressing smal.l
amounts of solute, ionic or otherwise. The unit p.p.mn
is a short form of the composite unit mg/L)
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Determine the [Ag*] in M needed to just begin precipitate
formation in a solution that has an carbonate ion

concentration equal to 0.0001 M {i.e. [CO,>] = 0.0001 M)
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Calculate the K,, value for Fe(CH), given that the solubility

of ferric hydroxide is 2.17 x 107 mol/L. Use the table of
K., values for confirmation purposes only.
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4, Determine the solubility of CaCO, in a solution of 0.100 M
Na,C0;. Given your answer, determine the mass of CaCO; in mg
that would be required to saturated 750 mL of the socdium
carbonate scluticn.

ONOOM ol

J -
N42C03 sy —> qu o t C03z 54’" wrnm{b»\
i
La Oyt = Ga*t +[C0*)

)
Lot Seprsaent He Ao&bc.bg of CaCO3
[G*])=5 /
[cop1- s vou
Ksp = Lea*Trco, T/

10~ - 5(6‘H7'” v

S\

2Qditme § 4L O )

H.83x10°7 = sfo1)

N2 ‘
s - ‘I‘,‘Z,,(O'frr% - asaumgibios WW

0wl x 1Ly M3 0¥ wol (aCOy | 10079 Cal0y (020 g
Jaw7|. N 1ol Ca (O
v

e

{
3
= 6.0036 ma, y

o 3.6 /u?‘
s
(D




J-'lCL_Y N Du\j\jcol_ [ AL (=8 (USSR LN B ) Lo A

o.co06 M
v /Ua ) o = Q/Uq T+ S0 250wl

W W UL T L1 LU\L‘\Ja[‘Z-

solution.

©.00DUH M o.00024M

Jﬁb(ﬂ)@) & =2 Pb* o+ '2/003" 500 m).

‘/‘/Pbsoqw = R s 50447

kel — 750mL
=
1 NA . — -~ (‘5075(.‘/
Orikild =CV =C\VN
O \/ Q:O.m‘\‘*o-'s r\::O.m:O.’Z‘S ﬁ/kw
Lrnovt w :0.00012 wa 0.00015 o { 0%/

Fv}uj X ©.00012 - » \/O'OOI'5-A ,01?50‘f that W

o) 0 .0ODI2 - X V.o 15-4

ra | TT | <
op - LA TL20,T

e Z%WM

Foo W)
[ 61078 = (0.000!7.'4)(0 arfoi‘:'—#)\/\ m(/x 2 95 110wk

o7
o719 2 \//

3,895 1077 el PLSOY
x 30327 4 PbS04

- - r X
Guto-C s 1 Gx10™ 2= 27x10"% x + &

O = x* -27,0%n +9x107"7

(Mcpupbsoq
/X = -b t J 62 Mac # (0?0!# \/
2a 'g,
Aoe 27107 £ )oY ~a(DN@y?) = H.‘Z‘lma {3}’50%

200
xo= 2. 2xt0™™ ¥ 192 yio™

> o




